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                y           y/δ         2 Ti

     5 mm     0,056    0,020 s
     9 mm     0,101    0,028 s
   18 mm     0,203    0,036 s
   27 mm     0,304    0,030 s
   54 mm     0,608    0,026 s
   79 mm     0,890    0,024 s
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     9 mm     0,095    0,020 s
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                y           y/δ         2 Ti

     4 mm     0,043    0,025 s
     9 mm     0,096    0,025 s
   18 mm     0,192    0,031 s
   27 mm     0,289    0,025 s
   54 mm     0,577    0,021 s
   79 mm     0,845    0,024 s
 111 mm     1,187    0,018 s
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     4 mm     0,042    0,026 s
     9 mm     0,093    0,031 s
   18 mm     0,187    0,022 s
   27 mm     0,280    0,019 s
   54 mm     0,561    0,017 s
   79 mm     0,821    0,024 s
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                y           y/δ         2 Ti

     4 mm     0,043    0,024 s
     9 mm     0,096    0,028 s
   18 mm     0,192    0,028 s
   27 mm     0,288    0,028 s
   54 mm     0,577    0,024 s
   79 mm     0,844    0,026 s
 109 mm     1,164    0,017 s

x = 24,5 cm
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                y           y/δ
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 111 m m      1,250
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